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ENGLISH
Complete the sentences by
choosing the most

appropriate word, from the
given lettered choices (A to
D) below each.

1. Did Mr. Fahim ___ the
reference book from the school

library?

A. loan
B. borrow
C. lend
D, sent

2. The of the new hospital
will start next month.

A. constructive
B. construction
C. construct

D. constructed

3. Timid by nature, the doctor, who
was alone in his house, was

frightened :

A. out of wits

B. out at his wits

C. at his wits end

D. out of his wits
4.MM'SM"'M;
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and his equanimity in the face of

danger almost

A. unreasonable
B. uncaany

C. patural

D. false
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A. Revenue
B. Return

C. Proceed
D. Eamings

opposite in meaning to the
word in capital letters.

6. CONCISE:

A short

B. lengthy

C. brief

D. to the point
7. AFFINITY:

A. alliance
B. hiing

C. sympathy
D. attraction
E. dislike

Four lettered pairs (A to D)
follow a related pair of words
given in capitals. Select the
lettered pair that Dbest
expresses a
similar to that expressed in
the original pair in capitals.

8. KERNEL: NUT:;
A yolk: egg
B. grape: ramssin
C. flour: bread
D. soil: seed




-




“‘ka”n’l‘mm
gravitation force of attraction
between two spheres each

1000 kg is: of mass
AXSTx10aN

B A3 x10«4N

C S61xI0aN

D 267x104N

21. Water has maximum density at:
A 0C
B 4°C
C.37°C
D. 100°C

22. In the Einstein's mass energy
equation, ‘c’ is the!

A. Speed of sound
B. Speed of clectron
C. Speed of Earth
D. Speed of light

23. A stone of mass S00g strikes the
wumamdum-n
Bnnﬂbmmﬂcmd
mmnnﬂhhlﬂuﬁ-lﬁt

ground?

A 110)
B. 100)
C. 115]
D. 150)
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is equal to applied force”, this

statement is called:

A. Boyle's law
R, Ohm's law
C. Newton's second law of motion

D. Coulomb's law

25. Twe equal but unlike parallel
forces having different line of
sction producing rotation,
defines:

A. A Torque
B. A Couple
C. Equilibrium
D. Neutral

26. The rate of displacement is called:

A. Acceleration
B. Velocty
C. Speed

D. Foree

27. A body is said to be in equilibrium,
when its:

A. acceleration is uniform

B. speed is uniform

C. speed and acceleration are
uni form

D. woeleration is zero

3S m applying a force of 300 N.
The wark done by the man s

A 10400 )
B. 10600 )
C. 10500 )
D. 10700 )




9. Normal human body temperature
is:
A 15°C
B 3¢
C.996°C
D. 98.6°C

30. Which is not a unit of power?

A. Horse power

B. British thermal unit
C. Wan
D. Newton-meter

If the mass of mars Is 6.42x102s

31 kg, and its radius is 3370 km,

Then the acceleration due to gravity
on the surface of the mars is:

A 3T Tms2
B 47 ms a2
CR7Ims2
D 973ms 2

32. Twinkling of stars, formation of
mirage are due to:

A Diffraction

B. Refraction only

C. Total internal reflection
D Reflection only

1), The numerical value of universal

constant of gravitation in S1 units
Is:

A, 6.683x10 31 Nmakg 2
B. 6.673x10 11 Nmakg 2
C. 5.673x10-11 Nmikg-2
D. 63x10-11 Nmakg 2
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stepping up and stepping dows
the voltage is known as:

A. Voltmeter
B. Galvanometer
C. Ammeter
D. Transformer

.\S,Akn:ll-dhgu-bo‘ynnlh.
an angle of 30° with the
horizontal. The horizontal
component of the force is 20 N,
The force is:

A J69N
B.248N
C 419N
D.23IN

36. The unit capacity of capacitor Is:
A. Newton
B Joule
C. Ampere
D. Farad

37. The reciprocal of frequency is
called:

A Wave length (A)
B. Time period (T)
C. Compression
D. Anti-node

38, A couple is formed by:

A. two forces perpendicular two
cach other

B. two like parallel forces
C. two equal and opposite forces not
in the same line of action
D. two equal and opposite forces in

the same line




39,

41,

A block weighing 20 N is lifted 6 m
vertically apward, The potential
energy stored in it is:

A 120)
B 115)
C.125)
D110}

.lucluunmuudemm

A increasing thesr speed
B decreasing their mass
C. increasing their mass
D. lowerning their centre of gravity

CHEMISTRY

The most suitable mode chemical
reaction for an atom
electronic configuration of 4dse,

Ss2, Sps Lis:

A. Redox reaction

B. Substitution reaction
C. Addinon reaction

D, Endothermic reaction

. The most stable electronic

configuration for Chromium
atom, can be proposed as:

A 3ds, 52
B. 3ds, 42
C.3de, 4
D. 3ds, 452

. Salt that can develop a basic

solution on dissolution in waler,
is:

A. Sodium carbonate
B. Sodium chloride

C. Copper sulphate 3
D. Ammonium chloride

h percentage
s et S

dipole moment in:

A. Hydrogen fluoride
B. Hydrogen

C Sulphur dioxide
D. Hydrogen disulphide

45. Formation of Line spectrum, can
be expected from:

A. Sodium ion

B. Sodium cation

C_ Sodium chlonide molecule
D. Sodum atom

46. By adding potassium hydroxide
into the aqueous solution of
potassium chloride, the lonization
of patassium chloride will:

A remain unchanged
B. decrease

C. increase
D). become unpredictable




48. Lowest value of bend length will
be ohserved in case of bond
formation, through:

A dspr-hybridization
B. spr-hybridization

C spz-hybridization

D. sp-hybridization

49. The highest value of bond
dissociation encrgy is associated
with the boad, formed by

A. dspr-hybridization
B spr-hybridization
C. sp2-hybridization
D sp-hybndization

50. Addition of hydrochloric acid inte
concentrated solution of acetic
acid, results in:

A. decreased chlonde ion
concentration

B. decreased acetate ion
concentration

C. increased acetate 10n
concentration

D. increased alkalinity of solution

51. Addition of 500 cm> of dilute
solution of mitric acid into 1000
cmof buffer solution having pH
= 3, will result into the solution

baving pH:

A Equalto 7
B. Equal 1o §
C Greater than 5
D. Less than 3
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atomic orbitals is entirely
responsible for stable molecular
geomeltry of:

A. Water

B. Nitrogen
C. Methane
D. Methano!

53. In order to form stable molecular

grometry of phosphorous penta-
chloride, central xtom will

undergo :

A dspr-hybridization
B spir-hybridization
C sp2-hybridization
D. sp-hybnidization

54. In oxygen molecule, & o -bond s

formed by:
A. s overlap

S5. When 2 cm? dilute solation of

sodium hydroxide is added into
100 mi of a buffer solution of

pH=8, pH of the resulted solution
will:

A. Become less than 8
B. Become greater than 8
C. Remain unchanged
D. Become unpredictable

.
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56. Magnesium atom can be made iso-
clectronic to Neon atom. through

the process of:

A. Sublimation
B. Neutralization
C. Configuration
D. Oxidation

§7. Addition of dilute solution of

hydrochloric acid iute the dilute
solution of barfum hydroxide, will

resalty:

A. increased concentration of
hydroxade ions

B. increased concentration of
hydrogen ions

C. formation of white precipitates
D. formation of black precipitates

S8 Specie having the highest number

of unpaired clectrom, i :

A. Chlonne
B. Phosphorous
C. Carbon
D. Boron

59. A species having an electronic
wm.ﬂu.b‘."
most probably will undergo a/an:

A. Endergonic reaction
B. Excrgonic reachion
C. Substitution reaction
D. Addition reaction

60. In nitrogen

A. 55 overlap

B.sp
C.p?p
D.pP

bead-on overlap

',‘im

molecule, the very first

Degencrate al
g Degenerate molecular i
D. High encrgy clectrons

63. Primary alcobol of choice to form

lodoform through haloform
reaction mechanism, is:
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§5. Passing of hydrogen sulphide gas

67.

through dilute solution of acetic
acid will resalt into:

A. decreased jonization of acetx

acd hrde
B increased jonization of acehic Ac

C. bubbling effervescence In
solution

D. precipitation of hydrogen
sulphnk

. For having five degenerate atomic

orbitals, an atom must possess
the value of Azimuthal quantum
number as equal to:

In order to form a stable
molecular geometry, central atom
of aluminium cbhride. will

undergo:

A dsps-hybridization
B sp2-bybridization
C. sp2-hybridization
D. sp-hvbridization

Spherically symmetrical orbital
will become the outermost orbital,
when two electrons are remoyed
from:

A. Sihcon atom

B. Sodium jon

C. Chiloride ion

D. Phosphorous atom

70. In the presence of a
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moment, mainly because:

lncmhdlﬂ

C. All bond lengths in methané are
equal

D. All bonds im methane are formed
byl—sovcrhp

strong clectric
field, spectral line of an atom will
split up producing:

A. Photoclectnic effect
B. Zeeman's effect

C. Deterioration effect
D. Stark effect

BOTANY & ZOOLOGY

7L Which of the following has a

clitellum?

A. Earthworm

B. Nenes

C. Cockroach

D, Flatworm .

72. Double fertilization in angiosperm
was discovered by:

A. Lecuwenhock
B Swasburger

C. Hofmeister

D. Nawaschin S G.

73. Ringworm disease in man is
caused by:

AT
BAmlhn




74. The common phase between

acrobic and
is called: anacrobic respiration

A Tricarboxylic acid cycle
B. Oxidative phosphorylation

C. Embeden Meyerhof . Paras

pathway or Glycol
D. Kreb's eyele o

7S, 4th ventricle Is present in:

A. Optic lobes

B Diencephalon

C. Medulla oblongata
D. Brainstem structure

76. Phyllode is a modificd:

A Leaf
B Pclluk
C_ Stem
D. Branch

77. The canliflower used as a
vegetable is:

A. A bunch of fertile flowers

B. An undifferentiated compaction
of leavey .

C. A fleshy inflorescence

D. None of the above

7%, Which one factor has led fo some
cichlid extinction in the lake:

A. Over fishing

B. Agriculrural run off
C. Waste

D. All of the above

A Sub-tropical ram forest
B. Tropical ran forest

C. Antarctica forest

D Both A and B

$1. Technique of preducing 2 cell line
whose members contain identical
coples of desired gences s called

A Gene therapy

B Gene cloamg

C. All of the above
D. Nooe of the sbove

82. Silverfish is included in;

A Amphibian

B. Echinodermata
C. Arthropods

D. Fushes

83, In our expirstory air, oxygen
content is around:

A A%
B. 20%
C.25%
D. 16%
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§8. Spores are liberated from the
4. A facultative parasite is: s’.w“ esly by the “
A. An obligate npwphytc gametophyte in:
B. Parasitic but can live as 2 .
saprophyte Mnrc_ bantia
C. Normally a capmp:yle yls g. m
D. Normally a saprophyte .
live as parasite under favorable D. Anthoceros
oy 89. Extra-chromosomal hereditary
85. A cavity formed by the determinants are known as:
disintegration of protoxylem :
tracheids in Equisetum stem is g :::::“
called: e somes
A. Valledupar canal D. None ofal
B. Cranial canal
C Ccnln!mu cavity 90. The ATP is formed in:
D. Air chamber A Ri
86. Which one of the following BGolg)m
processes uses a protein to help a C. Mitochondria
substance move across the D. None of the
membrane from high to low above
concentration of that substance QI.WNQ.[(&M#...
: responsible for the red tide?
A. Osmosis
C. Simple diffusion Polysiphonia nigriscene
D. Facilitated diffusion g Cephal _
.F
87. In frog the vein brings blood Y ucus furcatus
the tongue is: 922, -
' which of the following group :
A. Lingual ong .
(8;' gy A Placentals
- Anterior abdominal B M
D. Azygos C. Monotr
D. Cetacea
. - Visit for more papers: www.trickipoint.com
S'Mm —
NURSING-YELLOW-2023-12475

«"




o Sor s
% W“'#“’
98. The
w.whx
A. Mosscs
B. Cycas
that is . Pinus
Tk ﬂlﬂ“dﬂmwm
v in the rhizome of:
A. Psilotum
A B. Ophioglossum
™ : C. Preris
s avele is D. Mars ilea
, of e Dl'eul;t in the foe niale e
.. ribosomes are manufactured ;
A. Golgi apparatus
fiianace B. Lysosomes
. None C. Nucleolus .
O of the above C
:x develops from
tissue surrounding the
roducing tissue in a young
re mother cells
.I. ’»
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